Ready-to-progress assessment 


A bouncy ball costs 60p. Circle the coins which you could use to pay for it. Is there more than one answer?  

[image: Two 50p coins, four 20p coins and four 10p coins, grouped by denomination.]


Sophie’s book has 50 pages. So far she has read 9 pages. How many more pages does Sophie have left to read? 


[image: ]


Oak class raise £68 for their class fund. They spend £40 on new paints. How much money do they have left?


[image: ]

[image: Three rows of toys. Each toy is labelled with its price in whole pounds. Top row: bear £3, boat £13 Middle row: bedtime stories book £20, train set £50, drum £10, plane £30 Bottom row: dolls house £37, scooter £26.]
What is the total cost of:
a) [image: ]the bedtime stories book and the train set?


b) [image: ]the doll’s house and the plane?


c) [image: ]the scooter and the teddy?


d) the boat, the train set and the drum?
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